componentpartspace1 9210 UCOUSTIC CABINET ASSEMBLY INSTRUCTIONS

LOAD BEARING CASTORS x 4 MOUNTING ANGLES x 4
Q BrsExi (WITH 16 x M6 POZI PAN SCREWS) o (WITH 16 x M6 POZI PAN SCREWS) © e SOCKET BUTTON SCREWS X 32
© CASTORPLATES x 1 CORNER POSTS x 4 @ M6 POZI PAN SCREWS x 72 © smmALLAN KEY x 1

(WITH 16 x M6 POZI PAN SCREWS)

o TOP COVER x 1

POSITIQN CORNER PosTsE)onTo
BASE L) Fix mmexauane
ALLAN Evo

LOCATE CASTOR PLATES(() x 4

SECURE cASTORS B x 4 TO EACH
onTo BASE Q)

PLATEC)USING FIXINGS(x 4

FIT ToP COVER () ONTO CORNER
L S e H POSITION MOUNTING ANGLES (@ AND FIX INTO PLACE WITH FIXINGS ()
FIXINGS USING ALLAN KEY(() NB: ENSURE THE DEEPEST PRODUCT IS USED TO GAUGE THE DISTANCE BETWEEN FRONT & REAR MOUNTING ANGLES.

LEAVE A DNSTANCE OF 50mm BETWEEN ANY MOUNTED EQUIPMENT AND THE FRONT & REAR DOORS




component partspace2 9210 UCOUSTIC CABINET ASSEMBLY INSTRUCTIONS

€) DEPTH SUPPORTRAILS x4 @ siDEPANEL 15mm GASKET FOAM x 8 © sioepanELsx2 0 REAR DOOR LEFT x 1
SRS Q) FRONT & REAR 10mm GASKETFOAMx8 ) FRONT DOOR LEFT x 1 © REARDOOR RIGHT x 1
INFILLS x4

(SPIECES PERSIDE &6 PECES TOP & BOTTOM FRONT)

'd FTinFiLL PANELS Q) PARALLEL TO
MOUNTING ANGLES SO THEY RUN

FLUSHWTH THEM. FIX TO DEPTH ; . e
SUPPORT RAILS USIN X4

S TRl

FIT ANTI-RECIRCULATION mr?
TO THE SIDE & FRONT FASCIA
ENSURING THERE ARE NO GAPS

FIX DEPTH SUPPORT RAILS x4TOEBO
CABINET SIDES (TOP & BOTTOM) USING x4

Fit caskeT Foam@ano o
THE COMPLETE SIDES, FRONT AND
REAR OF CABINET

FIT SIDE PANL@ ONTO LOCATION PINS ON BASE.
FIT FRONT & REAR DOORS o e ONTO HINGES

NE: ENSURE GASKET ISNT STRETCHED AND IS *TIUNBED' INTO
FLACE AS YOU GO ALONG REMENMEER THAT THE 15mm GASKET
1$ FOR THE SIDES AND THE 10mm FOR THE FRONT & REAR




	Page 1
	Page 2

